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QUESTION 1

You want to deploy a NetApp Cloud Volumes ONTAP HA pair on Google Cloud. 

In this scenario, what is the minimum supported network configuration for Virtual Private Clouds (VPCs)? 

A. four dedicated VPCs 

B. one shared VPC and three dedicated VPCs 

C. four shared VPCs 

D. one dedicated VPC and three shared VPCs 

Correct Answer: B 

 

QUESTION 2

Your customer wants to migrate from an on-premises backup and recovery architecture to a public cloud target solution.
Which two factors should be considered when designing this solution? (Choose two.) 

A. recovery point objective 

B. recovery time objective 

C. media format 

D. mean time to repair 

Correct Answer: BC 

 

QUESTION 3

Exhibit. 
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Referring to the exhibit, what are three business reasons for the migration to the new target? (Choose three.) 

A. to increase redundancy 

B. to refactor the application to use S3 object storage 

C. to reduce cost 

D. to add NFS v4 support 

E. to increase performance 

Correct Answer: ABC 

 

QUESTION 4

Your company has just merged with another organization. You are responsible for connecting both companies by
designing a new multi-region cloud service in Microsoft Azure. Both company\\'s Azure subscriptions and tenants have
been merged already. You want to enable cross-region connectivity between the new services and endpoints. 

In this scenario, which service do you consider? 

A. ExpressRoute 

B. VNet Peering 

C. Service endpoints 

D. Site-to-Site VPN 

Correct Answer: A 

 

QUESTION 5

You want to protect your data against ransomware attacks In Cloud Volumes ONTAP In this scenario, which two
policies should be enabled? (Choose two.) 

A. Snapshot policy 

B. tiering policy 

C. FPolicy 

D. export policy 

Correct Answer: AB 
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